1-Rfree =rer fosie™ =0 7w ffeew 92 snemfia grar & ST asft ster &t fosie w3 % forw a1 q9<) 1 37T
FATE

Ans:- aTEadT T e

2-FFeY § TTeT T AT ST

Ans:- AT T §

3-FFET | TTET T F¥ AT TUET Fee o forw Fom Fa7 feew &7 yawr grar
Ans:-aTEat TFa e

A-FTEA<Y THY REEH FT A9 3 § (AT /et (1111), FT Ia9dd oA 8
Ans:-15

5-ZFTS e T 1 49 §

Ans:-16

6-37e 3% TUITe(T (Octal Number System) T SITeITY 3 &

Ans:-8

9-FFegex # o173 fare (Bit-Binary Digit) & 99 Fl&@gd &

Ans:-aT=2 (Byte)

10-FFIET AT il o T BT THIE 0l AHA G TEE I G6dT 8, T8 &
Ans:- farE (Bit) &1 21 &9 5l

11-F+e AT § U e (Nibble) =T war g

Ans:-4 fa= (Bit).&T

12-3r5 0 T91 196,892 (String) FT Fgd &

Ans:‘UF TEE8 Sz tF Az H Ear §

13-FFege foeen 7 3T orex F ofars % Wiy 7 T )

Ans:-fa (Bit)

14-FFe? FHET T d17 92 fhaarese a1 ATaree & &9 § 24< 6 STt g1 Tgi TF ar2e o497 grav gl
Ans:-3% T33memT (Binary) it &1

15- FFE §&4T KB FT T &I &



Ans:- fFeTaTse (Kilo Byte)
16-t# fafera=r (Billion) aTze ErAT &, AT

Ans:-T 91T 9752 (GB)

17-u= TTraTee (MB) fraer frefrarze (KB) 3 a¥1a< g1t § 1024 1,048,576 aTze ST &t U fAforaer arze 8,
% THTT THET 77T #7 LA

Ans:-3TT 9122 (MB)

18-FFa= FTTaTEe (MB) & U I{TTETEe (GB) 94T &,
Ans:-1024

19-FF2? HHILT § Hierd &7 MB 1 79 &
Ans:-B7TaTze (Mega Byte)

20-F2fSreer 79 § s fherarze (KI) 919 8

Ans:-1024 913 %

21- 1024 fefraTze (KB) a¥Ta 21T &

Ans:-1 FMETEE

22-RfSree =TT Tt &t TaTs, ST 2 it °1a 70 (2)F eraT g
Ans:-STgT aT3e (ZB-Zeta Byte)

23-39 719 (1 faferae) aTze e grahe)

Ans:-1 FMaTEE

24-2 T e TR AT TOART 77

Ans:-TB-GB:MB=KB

25- ST N ctva s, H AUTHTAT T S TeA¥, Fa¥ i fere e ok qetisn v e & a7 grav &
Ans:-31Ts fa2H (Bits)

26-3TEhT (ASCII) =g fBreeaw g ST SUetse 7T 81

Ans:-256 F3FET

27-UF aTze 0 SiY & at+ fheft oY dear #1 F=iia # ahar1 g

Ans:- 255 (0 & 255, F 256)



28- FEH LT TANT | A ATAT FIS AT TAT HeFe? H1 9192 8 fae Fie # =g Far 2l
Ans:-3Y (ASCII)

29-FFeT FT FTS o TAT hede FT UH 9T seeht (ASCII) Fre ZraT g1 AST ATERT T 07 &9
Ans:-American Standard Code for Information Interchange

30-HTT FFLT  forT ors7 #T 7T (range) BT 21

Ans:- 64 faz %

31-1 2T a2 (TB)

Ans:-1024 GB F3Ta¥ 2rAT &.

32- f3emamT (Binary) ®eaT Ugfd # f3amamy 34 0 3fi¥ 1 Fgand &

Ans:-faes (Bits)

33-ZecHIrd FT ag AT AT AT FT THE ST FFIST T TATAT @ feh FAT BGAT & 3T FH HTAT &, FgeATdT &
Ans:-HTFEAT TUTH

34-FFeT ATFEATAL &

Ans:- FFIET g AT FT &

35-ATFAAT T ITATHF HTT STET HT TRATHT /AT 2l

Ans:- =T H

36-FFe? foeew #7 9 W S #1857l a1, Fgarar g

Ans:-ATHeaaT

37-FFeT F HIH B, AT FT 97 2|

Ans:-FFHeT GIUTH

38-FFAERHEH FHT AN FSEH TRITH AT STR9T ATTHA S &, FgaATal &

Ans:-HTFaaT

39-5Ta foheft T § o IR (instructions) B 8 Sieg FFET Hil A3 FT HHAT &, A1 39 Fgd 2l
Ans:-TFFIeaw (Executable)

AQ-TreT TS T Y A3 (T ) FT TTHT FgeAral



Ans:-TaFagET (Executing)
41-werrq: fagree T 9 fReeq & et Taar g &Y g1 337 il 899 #7ar g
Ans:-sra<feT e

42 -FFX TIUTH & UH He ST FFAT gread? il AR F2ar g T Aeashar™ ST 3 T & 972 Se0heT
FETH FH FAT Y

Ans:-sra<feT e
43-U YT T ATFEATL ST HFGET 6 SeTAd AT TAT FFIET o THT qTeH & AT B[ NF AT
Ans:-3TITET ffeed aTFeaaw

AA-Fg FTHATT ST I qt H1 a0 Fw2ar & e fveger ey #7197 Fang $iT TRErds STasy F:3dT 8,
STEe T YATHT FFeT & AT SedUde w7 gl g, Fgdrdl gl

Ans:-3ae e e

A5-U FrET [0, ST ATHaIT TITT FIAT ¢ 3T ST TAFHLAR, Feardl &
Ans:-STRITHY (Programmer)

A6-FFAET HT HATT FA | T STT AT TAT Foala 16

Ans:-HTFaTT

47Tt et & &1 T 3 F [0 GO St aay Fgardr &

Ans:-SRITH

48-TEATTE

Ans:-FFET FT AITE HH0T

49-foret Freap fAeaTad & forw 9T (ready to run) STHTH foras et afvad it S&va 721 2rdt, Faarar §
Ans:-TFsiagea (Executable) TRITE

50-aTEAameiiT Wi Frege ITH, [iee <@ oliT o ST 96T §, FgadTd 2l
Ans:-gTE F7%

51-f8Fed qiFedaT FFAT & SeXad NEHS H M0 TAT G7=a7 FaT gl AT (Windows) ST &
Ans:-3ITII{ET e ATFeaa< &7
52-39+ €14 (Open Source) AT foeeq g



Ans:-for =T (Linux) 347 TgTaE (Android)

52-for = (Linux) 2.

Ans:-SafET ffrees 7 98

53-3T AT AT TRITH & T |1 STTH T 67 TORIT Fgard g

Ans:-FET TIETET

54-SF I HA ATST ATAT FFIAT ST THA FLAT @ AL UF g8 | H Irg, THE Fdl @, AT TE TAAT STl &
Ans:-a TTETET

55-Ta gl AT T TIRT F3d g0 U of HFde [eed § TF 97 a7 7 ST THTHI &f Totan(Execute) Fi
ATILIET e 7 9aT FgATdt g

Ans:-AedT TRITHHAT

56-3a e fBee &1 39 W1 A1 F97 Fgd 5 (o8 F5 TIEa? AT FIITLET TN Hd g0 UF of FFe? feeq §
T HTT &7 AT SATe Seeaered AT TTH UFS( e (ohT ST Tl g

Ans:- et TETRERT (Multi-processing)
57-T TG0 | UF F ATerF Afoershord =Terr v smofear ey i eraar v Fgq &
Ans:-g=dT 21T (Multi-Tasking)

58-TaT |16 & STHFIHE &l Felae (HAL ATATg, Sve I | T@T ATaT ¢, [ F#Fges § TAqe T Sar € 391 uF
THTE o Tt AT AT TF A1 ARSI gl

Ans:- 9= (Batch) TTEITET 421 ®

59-FFee? greaTactt § =9 (DOS) FT 31 §

Ans:- R smrfé e

60-FI-HT MY Ben Rared & waa: Iof g 3T OH (ROM) ® TgaT g
Ans:- THaSE (Embedded) ST fRreew

61-f2&F y=rer 9= (DOS Disk Operating System) T T i< 2.
Ans:- w182 (Format)

62-FFHATTd HEATHT § Tl -2 &l T 367 S[rar

Ans:- 39 TERET



63-5Ta Ueh FFHET | &7 TIHEE 010 1 & a7 39 Fgd &
Ans:- TTTerer TEfRRT

64-ZHHT AN AATH TST FISAT 6 (10 T TGl e LEITH ZTSH AT Tgead Ul Aal grdl, FGT AT 1T gl a7
TTET &1 Ueh AT F G UHAT HT OF % & | TIEF 637 [1ar 8

Ans:- 3= TTHTERT

65-a8 FFHET TTUTH ST TF ITT H Tk TIUTH AT HT TefiT qTT § qartad F2ar g

Ans:- 27T Q
66-FFITAT & Q

Ans:- T THT TRTH ST 37 w7 qro7 & forfera s i wefist amor o 1&

by e S o ey S e A g% By e T
TE BT | TEAT WK

Ans:- FFITZEL \

68- THE Ih STTUTTHT wAverst T TR UasTagerT Q
Ans:- FeTex

69-FTTZAX ATFEATL TTUTH T e At T
Ans:- fRreea #fY Tt (Syntax Error,

>
N

®



